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Concept CW_ Grade-3 Addition and Subtraction

Solve One step problem on subtraction of 4-digit numbers

Q1. There are 6545 houses on the street. 1421 houses
have been painted white. How many houses have not
been painted?

Q2. A basket holds 9055 oranges. The shopkeeper has
5665 oranges. How many oranges can not be put in the
basket?

Q3. Out of 8797 children of town, 6989 go to school.
How many children do not go to school?

Q4. Ron has 1846 marbles in his collection; he gave 547
marbles to his sister. How many marbles are left with
him then?
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Q5. | had $5000 with me. Out of it $3585 was spent.
Now how much money do | have?

Q6. Shelly bought a bed sheet for $1699. She gave the
shopkeeper $2000. What amount will be returned by the
shopkeeper?

Q7. There were 4703 students in class V of the school.
Out of them 4601 passed and were promoted to the
next class. How many students did not get promoted?
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